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1. Object Oriented
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In [1]:
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Out[1]:
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In [1]: print (17/5)
print (17//5)
print (17%5)
Out [1]: 3.4
3
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In [2]: print (-17/5)
print (-17//5)
print (-17%5)
Out [2]: -3.4
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Out [3]: 125
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1. type
2. integer

3. float
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In [1]: print (type (5))

Out [1]: <class 'int'>
In[2]:  print(type(7.7))
Out [2]: <class 'float'>
In [3]1:  print(type(2+3j))

Out[3]: <class 'complex'>

1. complex
2. string
3. boolean
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In [1]: # python program to tllustrate If statement
i =10
if (i>15):

print("10 is less than 15")
print ("I am Not in if")

Out [1]: I am Not in if
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1. colon
2. indentation
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In [1]: number=9
if number’2==0:
print ("The number is even.")
else:
print ("The number is odd.")

Out[1]: The number is odd.
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In[2]: i, j, k=7, 5, 3
if i > k:
if j > k:
print('i and j are greater than k')
else:
print('i is less than or equal to k')
Out [2]: i and j are greater than k
0 Jke

1. nested conditions
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In [1]: # i1f..else chain statement
letter = "A"
if letter == "B":
print("letter is B")
else:
if letter == "C":
print("letter is C")
else:
if letter == "A":
print("letter is A")
else:

print("letter isn't A, B and C")

Out [1]: letter is A
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In [1]: a =7
b =9
c =3
if ((a>b and a>c) and (a !'= b and a !'= c)):
print(a, " is the largest")
elif ((b>a and b>c) and (b != a and b != c)):
print (b, " is the largest")
elif ((c>a and c¢c>b) and (c !'= a and ¢ != b)):
print(c, " is the largest")
else:
print ("entered numbers are equal")
Out[1]: 9 is the largest
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